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UNIT 5 LESSON 2

AIM: How can create and use the explicit formula to find the “nth” term of an Arithmetic Sequence?

- Yocabulary of Sequences
Explicit Formula a, —> First term
a, = a1+d(n—1) a, ~» nth term
n — number of terms

d — common difference

\ hd
An Q XG:) \ \C \ AV is.used to define the pattern of sequences. Using the explicit formula you
can calculate the value of the  {\ term.

1. Given the sequence 8, 14, 20, 26, 32 ... C% Sequence | a,

a) Write the explicit formula. d= 6 a:erm
Od\:(l\*d(ﬁ"*h B E‘
on=%S +cln —-D TR,

an =% +on-go 26
lan = &N +®j =

b) Use the explicit formula to find the 20" term (ayp) .

N=30 ONzZT6N+
0.0 = 5RO\ +2
0O — \’&_'&

AO0Th+erm s 1%




2. Given the arithmetic sequence 18, 23, 28, 33, 48 ...
a= | CZ
a) Write the explicit formula

= Qo +d(ﬂ-ﬂ\)
an= 1% + 500 =)

an = 18 +Sn -85

Bon = 5(\—\—@

b) Use the explicit formula to find the 16" term (ays) .

N=\o anN=55n+13
C16 =S UT) + 1>
@\G:@'@J

| &Y Yrermn s 9

Sequence | a,
term
ap : l%.
" 2=
a3 5?%
t =3
as L-(g

3. Given the arithmetic sequence 5, 1, -3, -7 ...

)
4=~y

a) Write the explicit formula \

Own = G+ AN

an =95 ~4(N~ 0

AN = © —¢4Nn+Y

jan = ~4n+9

b) Use the explicit formula to find the 30" term (a) .

N=20 an=~—% +9
ADd0=-Y (30\ +9

|20 = ~| !)i(

20" 4oremm s =11

Sequence | a,
term
s
a l
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4. Given the arithmetic sequence 15,13, 11,9,7......

a) Write the explicit formula a= 15‘ Se?elll'f:ce i
an=coi + d(n -1 -3 [ IS
cn =15 +adn-1) a3 ﬁ)
oan =19 +AN-72 " g
\an — AN —l—-\\%} s ~7

b) Use the explicit formula to find the 34™ term (aa,) .

=D anz=adnNn+1d
ozt =AY + 1
[ocay =51]

5. Use an explicit formula to find out what the 50" term in this sequence would be?

) 3 Seg::‘(::llce 2,

O’\ \ O,@ Q.g Q‘L‘{ Q S Zl: ,3 a 3

x LI LR N EEAR ExENy a3

N Em  mmE  mmER  mEmas ©

= 6 =R 'S e
O\‘r\:@_w\-d(ﬂ-—‘h . ‘%

an = D+ 3CN-1)
an=->dD4+DN="3H
Jan :"—’:Bﬂl

NS5O aso :3(‘5@}
rO\,‘E o*::\%'g/
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6. Find the 25" term of the arithmetic

sequence in which a;=5 and d=4

2. 100 q\:5

b. 124

Gaol n Qg

dgsn —-Ql—\*d(f) )
as =5 +4(es-]

EEs = 1o

\_.—

7. Write an equation for the nth term of the
arithmetic sequence —7,-2, 3,8, ...

a. a,=n+>5 a, - _’,7
b. a,=5n~12

c. a,=-Tn+12 d - +<5
d. a,=-7(n+5)

o = Cu +d(<r\ 3

an == + S0 —1)
=7+9NnN -5

(&0 =Sn-13|

A theater has 60 seats in the first row, 68 seats in the second row, 76 seats in the third row,

and so on in the same increasing pattern. If the theater has 10 rows, how maqy seats are in the

10th row?

a 'z 60

= B
n= \0O

o0 = 0+ d (nh=—)
o\O0 = ©0 +%(l®-—\\
ol = G O +"772

[ 0 =

D)




